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B. A. (HONOURS) ECONOMICS 

(BAECH)  

Term-End Examination 

December, 2023 

BECC-103 : INTRODUCTORY MACROECONOMICS 

Time : 3 Hours     Maximum Marks : 100 

Note : Attempt questions from all the Sections as 

per introduction given in each Section. 

Section—A 

Note : Attempt any two questions from this Section 

in about 500 words each.  2×20=40 

1. Through an appropriate diagram explain how 

income and output are determined in the 

Keynesian model. In this context, what is 

Keynesian cross ? What are its implications ? 

2. Explain how equilibrium output and interest 

rate are determined in the IS-LM model. What 

do the points outside the IS and LM curves 

imply ? 
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3. Explain how output and employment are 

determined in the classical system. How  

was full employment ensured in the classical 

system ? 

4. Define inflation. What are its types ? Explain 

how wage-price spiral works. 

Section—B 

Note : Attempt any four questions from this Section 

in about 250 words each.  4×12=48 

5. Explain the relationship between money supply 

and prices. 

6. State the major differences between Classical 

Economics and Keynesian Economics. 

7. Explain the government spending multiplier. 

How is it different from the investment 

multiplier ? 

8. Bring out the factors that influence the slope 

and position of the LM curve. 

9. Explain how credit creation takes place by 

commercial banks. 
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10. Through a diagram explain how circular flow of 

income and output takes place in a closed 

economy. 

11. Describe the expenditure method of measuring 

national income. What precautions would you 

take while measuring national income ? 

Section—C 

12. Write short notes on any two of the  

following :  2×6=12 

(a) Open Market Operations 

(b) Hot money 

(c) Liquidity trap 

(d) Net national product at factor cost 
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